TAB.

14: INWENTARYZACJA ZIELENI

L.p. | Gatunek drzewa loSE * | Srednica pnia Obwéd pnia [cm]
[szt.] [cm]
1 brzoza 6 10 35
2 klon 120 10 35
3 olsza 2 10 35
L topola L 10 35
5 brzoza 2 15 50
6 jesion 2 15 50
i brzoza 23 20 65
8 jesion 6 20 65
9 klon 21 20 65
10 olsza 2 20 65
1 osika 1 20 65
12 sosna 3 20 65
13 topola 9 20 65
14 wierzba [A 25 80
15 brzoza 23 30 95
16 jesion 2 30 95
17 klon 3 30 95
18 lipa 6 30 95
19 sosna 1 30 95
20 topola 8 30 95
21 wierzba 1 30 95
22 brzoza [A 40 130
23 grusza 1 40 130
24 klon 2 40 130
25 lipa 2 40 130
26 topola 1 40 130
21 wierzba 6 40 130
28 lipa 1 50 160
29 olcha 1 50 160
30 wierzba 2 60 190
31 lipa 1 80 255
32 topola 1 80 255
33 wierzba 1 80 255
SUMA: 218




